UNIT 10 More Integration NAME:; K Q'_\'

REVIEW when the numerator equals zero the slope is zero
w41, when the denominator equals zero the
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following is the slope field of dx  y¢—_— slope is undefined (nothing or vertical)
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2. Consider the differential equation it where x # 0.
a. On the axes provided. sketch a slope field forthe given )
differential equation at the eight points indicated.
\ 1+ I's
b. Find the particular solution y = f(x) to the differential equation
with the initial condition f(—1) = 1.
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c. Write an equation for the tangent line to the curve y = f(x) through the point (1, -1). Then use your tangent line
equation to estimate the value off.(tI.Z).C‘ N AR (e 1)
slope of the tangent line at (1,-1)= 22 L= + | 7

equation of the tangent line
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Find the indefinite integrals.
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Evaluate the definite integrals.
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¥ |2 NOTE: This will not be on the Unit 10 Test
but you might see one on the AP exam!
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